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— ~ A DBMS that provides a recovery utility uses what object and what techniques

to restore a database when it becomes damaged or destroyed. (Answer the key
words only in English. Explanation is not required.) (3%)

=~ In the early 1970s, the ANSI SPARC defined a framework for data modeling

based on degrees of data abstraction. Draw a figure to present this ANSI SPARC
framework of data models. (3%)

=. A datarecord TEST has attributes A, B, C, D, E, where B is the primary key and
E depends on D. What is the result after normalization? (4%)

M. Use a tree structure (parent left, child right) to present all (life cycle) phases and

possible process activities (with diagramming tool if any) in the system
development life cycle for the development of an information system of an
enterprise. (Name of the diagramming tool should be in English) (15%)

I EEAREEZTEGE)EH% - (DIEFFEMBURGIERBY - 3L
MS-DOSHYFATE, Linux #ext24 2 2 &5 B Bl » B AGSRBAFAT S ext2 05 &

BE=Z2E? xR TRAZATER B IS AR B A 0 6 S BB 22 ) ¢
15%)

75 %Tfﬁﬂﬁéﬁ%@ﬁfbﬂ@%ﬁt » BISE R B TR R ERIH R R
{ESEIRIE (Fl40Windows XP B Linux) o BEESE AT RS E R
HayER ? 5 53 U A i b 7 Sk B - (10%)

B ELUHRET S @ Fibonacci SeriesIEIEIERS, f(S)AI5HEIER K &
REVEER - (5%)
I\ BURIRIR T BICSMA/CA f 772 B 5 4 RS B3 ‘
a) “{HiERT” ey G SR Ath 34 3 2 M R 7 (3%)
b) “Send RTS"KIH H? (3%)
¢) “Wait SIFS”# B iy ? (3%)
d)  “timer"BI{ER? (3%)
e) W&t HEback-off time? (3%)

Set back-off
to zero

Persistence
strategy

- Wait DIFS. - .

No

Back-off
limit?

ACK received
before time-out?,

Increment
back-off
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Ju~ FE%Go-Back-N ARQIIIE % &t H 3. R 3% Frame0, Framel, Frame2[5 45
&, PREEERIMEMACK, BFrame0, Frame2iF %3, MiFramel FFig&
% . SEEYRA AR E TR EE R ER. (5%)

Sentler Receiver
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51 [T~ __Frame
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Time Time

T BSRARM AR CHE. B RE H— HE{E 10000557 & T
18 10%8 5% (B110007T), BB LAR/ E 8 (3% 42 0 John) th & FE R K
SHE T AR 210% LEE, ARUETAR(BIR)IBHES P08 ] 4T
(B110000*10%*10%=100T), TiJohnkE /B L 43 Maryth 818 JohnHES f910%
(B110000%10%*10%*10%=1070)%4%... LASL AEHE . 4t R W5 A X 4 vk 2 26
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Javaf2 B E, AMANERNETRER. GobiES o REBRENES -
MERBAER. BE T2 AR A 75 & $ 4 (Encapsulation), MERNELSE
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public class Employee(

//Section A: B &858
private Employee boss;
private String ID;
private double total_bonus;

//Section B
public Employee(String ID){
total_bonus = 0.0;

}
public Employee(String ID, Employee boss){
total_bonus = 0.0;

}

/iSection C: TEETEIHELR £ 8 BA B ATIRER S B10%)
public void addBonus(double value){




I PR KRZIRFERELHEELRALSREE

PRRl BB E LB LN Fa(—f&4) #8 FE4mpn 2 )7 R & ~ )]
AMEEL LBy 2a(—Ki4L)
AMEFLAE T Ha(—H4E)
AMEFREATER ¥ FARABLEELE () AL

total_bonus += value*Q.1;
297977

/ISection D
public double getBonus(){ return total_bonus; }
public String toString(){ return ID; }

}

EEF IRt A — S T E R,

public class Test{
public static void main (String args{]){
/fsection E
Employee al = new Employee("001");
Employee a2 = new Employee("002", al);
Employee a3 = new Employee("003", a2);
Employee a4 = new Employee("004", a3);

/fsection F
a4.addBonus(10000);
a2.addBonus(20000);

/lsection G

System.out.println(al+ ": " + al.getBonus() + "\n" + a2 +": " + a2.getBonus()+ "\n" + a3 +"; "
+a3.getBonusO+ "\n" + a4 +": " + a4.getBonus();

)
)

B T 5 URIRE -

a) Section BRIZ EAEFZZ(Constructor) » A BERER ? 3%)
b) 5ERLSection BHIEIR(BI7722228F 43 BUIEHFE - KBRS LEB] - - B2)E#
PR ° (4%)
c) %}ﬁSection CHERREN?7222278R ) RIFRZE - (7%)
d) AMERTEERN  FSENERRE 2+ [EikE ?.’i&“‘ﬁ%?ﬁ’] :
HEEER] ? (%)
e) EET ABT 505 - [FHSystem.out. printIn(BllSection GER) N A LEHE T £ / ;
TR o PEBFORTT LUE B Array BB RIRL T - sREFH ArrayEd T for, jEBE =2
2RET RIS R 3% 32 A2 209 Section EBAGERSY (3 LA B2 2088 ch RYTU(E Ly
Employeej{4 £61) (6%)
f) 1§ Section FigUE © (2%)
Employee al = new Employee("001");
Employee a2 = new Employee("002", al);
Employee a3 = new Employee("003", a2):
Employee a4 =new Employee("004", a2);
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